1. 22-9+xy-3y & A5LE)s1H?

@ (x+3)(x+3+y) @ (x+3)(x+3-y)
® (x-3)(x-3-1) @) (x-3)(x+3+)
® (x+3)(x=-3+y)

‘ (x+3)(x=3)+y(x-3)=(x-3)(x+3+y)
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3. a=V3,b= V5T V675 5 a,b & HA UEl2E
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V675 = V27 x 25 = V33 V52 = a3h?
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V10 1
@ V600 = 10 V6
® V6000 = 10 V60
@ 60000 = 100 V6

6 V6
V0.0006 = {/——— = —
® 10000 ~ 100

@, ®, O V6 I 57 vjgo] 2L &




&
10
[
-
Sl
£
o
=

I
P>
>
4z
M
e

y el g
& o, V2x -y 9

5=92... 0|12
m{g,..lffg‘i*‘”
2x—y = 7 mg;:_‘—r%%_
y;ﬁvg_z)_&?ﬂ%% s e
:_;0—2VT-VEO_$ E
V243 o




6.

I
rgt

Al
o]

‘:}g*ﬂ—l—ABC—f]"’H ot o
&

TAE e Aoz 54

A
VAl

A

o i

Fote
a

a9
=TH?

rE_w

nu

ille
ofx

A=V5+V3,B=V5+1,C=3+3

DA< B @ A>B ® A<C

B>

(A-B=(V5+V3)-(V5+1)

=v3-1>0
A>B

(20 A-C=(V5+ V3) - (3+ V3)

=v5-3<0
LA<C
1), (2)¢] Aitof eJste] B<A < C




